In Figure 2.10b, the area under the velocity versus time curve and between the vertical axis and time t (vertical dashed line) represents the displacement. As shown, this area consists of a rectangle and a triangle. Compute their areas and compare the sum of the two areas with the expression on the right-hand side of Equation 2.12.

SOLUTION 

[image: image1.emf][image: image5.emf]Area A1 is a rectangle. Thus, 

Area A2 is triangular. Therefore 

The total area under the curve is 
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The displacement given by the equation is:
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The same result as above for the total area.

